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Balancing Chemical Equations

Activity 1

Question Group 1

Question 1

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Al + Br2 — AlBr3

Question 2
|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Re + Bro — ReBrs

Question Group 2

Question 3

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Al + N2 — AIN

Question 4
|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Fe + N2 — FeN



Question Group 3

Question 5

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Na + 0O — Na0

Question 6
|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Li + O — LiO

Question Group 4

Question 7

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Na + Cl2 — NaCl
Question 8
|dentify the lowest possible whole number coefficients that balance the

chemical equation.

Na + Bro — NaBr



Question Group 5

Question 9

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

|V|n|3 —> Mn + |2

Question 10
|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Pals - Pa + P

Question Group 6

Question 11

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

CsHs + O — CO2 + H20
Question 12
|dentify the lowest possible whole number coefficients that balance the

chemical equation.

CHs + O —» CO2 + H20



Activity 2

Question Group 7

Question 13

|dentify the lowest possible whole number coefficients that balance the
chemical equation. Then conduct an atom count for each element.

N2 + H2 —> NH3

Question 14
|dentify the lowest possible whole number coefficients that balance the
chemical equation. Then conduct an atom count for each element.

Ti + N2 —> Ti3N4

Question Group 8

Question 15

|dentify the lowest possible whole number coefficients that balance the
chemical equation. Then conduct an atom count for each element.

Mg + O —» MgO
Question 16
|dentify the lowest possible whole number coefficients that balance the

chemical equation. Then conduct an atom count for each element.

Ca + 02 —» CaOo



Question Group 9

Question 17

|dentify the lowest possible whole number coefficients that balance the
chemical equation. Then conduct an atom count for each element.

Zn(OH)2 + H3PO4 — Zn3(POs)2 + H20

Question 18
|dentify the lowest possible whole number coefficients that balance the
chemical equation. Then conduct an atom count for each element.

Cu(OH)2 + HsPOs — Cuz(POs4)2 + H20

Question Group 10

Question 19

|dentify the lowest possible whole number coefficients that balance the
chemical equation. Then conduct an atom count for each element.

P + H-0 - PHs + HsPOs3
Question 20
|dentify the lowest possible whole number coefficients that balance the

chemical equation. Then conduct an atom count for each element.

Sb + HO — Sb0Os  + Ha



Question Group 11

Question 21

|dentify the lowest possible whole number coefficients that balance the
chemical equation. Then conduct an atom count for each element.

CHse + O —> CO2 + H20

Question 22
|dentify the lowest possible whole number coefficients that balance the
chemical equation. Then conduct an atom count for each element.

C4H1o + 02 - COZ + HQO

Question Group 12

Question 23

|dentify the lowest possible whole number coefficients that balance the
chemical equation. Then conduct an atom count for each element.

Al + AuCl — AIClz + Au

Question 24
|dentify the lowest possible whole number coefficients that balance the
chemical equation. Then conduct an atom count for each element.

Al + AgCl — AClz + Ag



Activity 3

Question Group 13

Question 25

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Al + ZnSOs — Alx(SOs4)z + Zn

Question 26
|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Al + CuSOs — Alx(SO4)3 + Cu

Question Group 14

Question 27

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

H + FexOs — Fe + H20
Question 28
|dentify the lowest possible whole number coefficients that balance the

chemical equation.

Al + CuClo — AICIs + Cu



Question Group 15

Question 29

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

CHsOH + 0O, — CO2 + H20

Question 30
|dentify the lowest possible whole number coefficients that balance the
chemical equation.

CoHsOH + O —» CO2 + H20

Question Group 16

Question 31

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Al(OH)s — AlOz + H20
Question 32
|dentify the lowest possible whole number coefficients that balance the

chemical equation.

P205 + HQO —> H3PO4



Question Group 17

Question 33

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Fe20s + CO —> Fe + CO:>

Question 34
|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Si0 + C - SiIC + CO

Question Group 18

Question 35

|dentify the lowest possible whole number coefficients that balance the
chemical equation.

Ba(OH): + CO2 — BaCOs + H20
Question 36
|dentify the lowest possible whole number coefficients that balance the

chemical equation.

Ca(OH) 2 + CO2 — CaCOs3 + H-0O



